O
. n
n{ag om
vah V:m
e
[on

f‘dds
4 -4)

0
6
dx
+
A
(0:2
(l
),
(0))

‘
Aﬂ
-
Q
) COtD
' ["‘D

/1
f j N 4
“;("rj;’
=]

)
vV (




7N

D) IX3 4% do +?—?270‘£7 5._7_

d-
ff@d %) Ak Y=%
[{iCE
[y

56 (M%MI*(%"W—':QO%{ Y=4-5°

=0

ffi 24 Jh —@YT

-2

[fff T L e




@

Ploase!

> Fiy) = (oM 4>
(0 0) w(2lL>) (4,3) ,(;(O) , Col0\

fl g

—

% dx 4 (-t,0 a,°)
§ X“j +<‘j 3 £ lﬁc -ff’: |
</,7/’/\
/
Ho DA K : P 8

55 e — e Y A o9
4 :j{'?/%__ ot
ff e - dx dy |
0 \‘] T Uq&‘?— 10 &
H/dau = 6—f—\'ﬂ1’3—c
2




)

q
Sf (S»{r\x-l:(y) dx T (2x -ty)alg Y
(1 -2 JdA

(2,4)

(z,L)

—aVVM l§+{/~awx}-¢7uw\a'oﬁ’/’(/‘ﬂ-

. Live V\.te_a/\a)(f



